
 



 

𝑖𝐿 =
𝑈𝑜

𝑋𝐿
𝜂𝜇(𝜔𝑡 − 𝜑𝑢−𝑖) =

20√2

4
𝜂𝜇(628𝑡 − (90𝑜 − 30𝑜)) = 5√2𝜂𝜇(628𝑡 − 60𝑜)) 𝐴 



 

𝑋𝐿 = 𝜔𝐿 = 2000 ∗ 2 ∗ 10−3 = 4𝛺 

 

𝑋𝐶 = 𝑋𝐿 = 4𝛺 

𝑋𝐶 =
1

𝜔𝐶
⇒ 𝐶 =

1

𝜔𝑋𝐶
=

1

2000 ∗ 4
=

1

8
10−3 = 0,125 ∗ 10−3𝐹 = 1,25 ∗ 10−4𝐹 = 

1,25 ∗ 10−4(106) = 125𝜇𝐹 

 

𝑍 = 𝑅 

 

𝐼𝜀𝜈 =
𝑈

𝑅
=

100

8
= 12,5𝐴 

 

 

𝑋𝐿′ = 𝜔′𝐿 =
𝜔

2
𝐿 =

2000

2
∗ 2 ∗ 10−3 = 2𝛺 

 

𝑋𝐶
′ =

1

𝜔′𝐶
=

1

(
𝜔
2) 𝐶

=
1

2000
2

1
8 10−3

=
1

1/8
= 8𝛺 



𝑍 = √𝑅2 + (𝑋𝐿 − 𝑋𝐶)2 = √82 + (2 − 8)2 = √64 + 36 = √100 = 10𝛺 

 

 

𝐼𝜀𝜈′ =
𝑈

𝑍
=

100

10
= 10𝐴 

 

 

𝑍 = √𝑅2 + 𝑋𝐿
2 = √32 + 42 = √9 + 16 = √25 = 5𝛺 

𝜎𝜐𝜈(𝜑) =
𝑅

𝑍
=

3

5
= 0,6 

 

𝐼𝑍 =
𝑈𝜋

𝑍
=

100

5
= 20𝐴 

𝐼𝛾𝜌 = √3𝛪𝛧 = 20√3𝛢 

 

 

𝑆 = √3𝑈𝜋𝐼𝛾𝜌 = √3100 ∗ 20√3𝛢 = 6000𝑉𝐴 = 6𝐾𝑉𝐴 

 



 

𝑃 = 𝑆𝜎𝜐𝜈(𝜑) = 6 ∗ 0,6 = 3,6𝑘𝑊 

𝜂𝜇(𝜑) =
𝑋𝐿

𝑍
=

4

5
= 0,8 

𝑄 = 𝑆𝜂𝜇(𝜑) = 6 ∗ 0,8 = 4,8𝑘𝑉𝐴𝑟 

 

 

𝑄𝐶
′ =

𝑄
3⁄ = 4,8

3⁄ = 1,6𝑘𝑉𝐴𝑟 = 1600𝑉𝐴𝑟 

𝐶 =
𝑄𝐶

′

𝑈𝜑𝛼𝜎
2 𝜔

=
1600

(
100

√3
)21000

= 3
1,6

104
= 4,8 ∗ 10−4𝐹 = 4,8 ∗ 10−4106 = 480𝜇𝐹 


